


2.

otef] 182 A xolM Mt vy 2o 5 X - Y2 UEW
Zolt}, fo] Aoy, T4, A9& AR g A2?
1 a
b
c
@ {a,b,c}, {1,2}, {1,2,3} @ {a,b,c}, {1,2,3}, {1,2}
@ {1,2,3}, {a, b}, {a, b} @ {(1,2,3}, {a, b, c}, {a,b)

® {1,2,3), {a,b,c}, {a, b, c}



:x2_x’g

-1

(x) = 2x+ 1] thote] (fogo f)(1) 2] gk

3 0

@ 1

B 2

O
-

?



ey = oot

o
-

AT A = (X0 <x< 1} Hi5te] AoA AR9
y = g(x) 2] Tz} otef) 2F3 T2 W], (fogo f1)(d) 2 3k

Aufel7}?




1o (f- )1 (p) <

o

f(x)2ky =x°] 2

ol

yl\

@ d

@ b









afolat,

(x) = ax+b ol Hsted (1) =2, f(1) =2 L, £3) 9



Sh
=1

2~
T

@

f(x) =2x-3°l diste] f1(2)

D | Qo

5
@ 2 ® 3






@ 2 ® 3

1



=

< N

o

@ 7 3 8 @ 9 3 10

@D 6



or

4 f(x) =2x-5 9]
AutQl7F?

Sk
=

13.

@ 1 3B 3

3 0



14.

T AT X ={-2 -1,0, 1, Y =11, 3, 5, 7)
f:X=YEfx)=2x+52AH S, /(1) +
Qntel 7}y

@D -3 @ -2 3 -1 @ 0

l



el

) o)}
A o
. 271 (1)
9]



16.

°0g™)(2)°]

Eis

rlo



2

17. f(x) = {;x g : g; L, (1o £)(4) © e Lrtalry

@ -1 @0 ® @ 1 ® 4

N | —



f(-2)=-1<4 o,

I~
Il
=
S~
5
—_
fife)
[y
ow
=
+ &
S
in
— O_E
=
o NE
<F o
o
i x
ol

18.

@ 4 3 6 @ 8 ® 10

@D 2



sholat,

:’7_

lx+11-1x-3]°] %
O
=

M —m °] 3%

5]

oty

19.

F-

C
=



20.

TR Lo 7 f(2) =
o]—/\]

B
=¥



